
Voorbeeldoefening


Geg: AW = 200.000

t = 10 jaar

RW = 0     RW = 20.000
	Jaar
	Vast % op AW (1)
	Vast % op de Boekwaarde

	
	
	Zuiver (2)
	Met restwaarde (3)
	Fiscaal aanvaard (4)

	1
	20.000
	200.000*20%

= 40.000
	41134
	40.000

	2
	20.000
	200.000-40.000*20%

= 32.000
	32674
	32.000

	3
	20.000
	200.000-40.000-32.00*20*

= 25.600
	25954
	25.600

	4
	20.000
	20.480
	20616
	20.480

	5
	20.000
	16.384
	16376
	20.000

	6
	20.000
	13.107
	13008
	20.000

	7
	20.000
	10.486
	10332
	20.000

	8
	20.000
	8.389
	8207
	20.000

	9
	20.000
	6.711
	6520
	1.920

	10
	20.000
	5.369
	5179
	/

	Totalen
	200.000
	178.526
	180.000
	200.000

	
	
	
	+ 20.000 RW

= 200.000
	



(1) Lineaire afschrijving:  (AW-RW)/t = D


(2) Lineair % verdubbelen


(3) Zelfde manier van uitrekenen maar met:



p = 100 – 100 * ( RW/AW ) ^ 1/t




p = 20,567




De restwaarde is hier naar 20.000 veranderd!
























